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Oétovpe h(x):@ Ko (p(x)zg(x)(x2+x—2)

omoOTE IXILTllh(X) =-3(1), IXILT}(p(X) =4 (2) , ko akdun

limh(x)-limoe(x) .
:>I|Lrl1[f(x) g(x)]=2= I|Enzx):12()[)( )():g)'xiﬂ][f(x) g(x)jz%:

. f(x X
Oétovpe h(x):ﬁ Ko (p(x):x ?_(3)()+2

omoTE )!Lr[]lh(x)=6 1) , IJLT(P(X)z?) (2) , kou akdun
h(x)=%:>f(x):(x+l)h(x) £ (x) (x+1)h(x)

(P(X):%Zg(x):(p(x)(xz+3X+2) g(x) (P(X)(X2+3X+2)

U
Il

lim f(x) _ fimh() (1):(3 lim flx)___ 6 lim ) _ 2
Mok " fimo(a)-Tm(x+2) ~ *Ma() 30102) ()
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@étovpe h(x)= ;2()()4 ko @(x)=g(x) (X3 —8)

omote IXILT;h(X) =1(1), Ixim(p(x)=—6 (2) , kot oxdun




X+2)h(x)(p(x) N

:>f(x)-g(x):(

X>+2x+4
lim(x+2)-limh(x)-limoe(x
:>|imf(x)g(x)=x_>2( - ) x?z ( ) x—>2(P( )
X2 Ilm(x +2x+4)
X—2
e (2+2)-1-(-6)

= Iximf(x)g(x):

T
2°+2-2+4 X2
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@étovpe h(X)z\/ﬁ)_2 Ko (p(x):g(x)-(J3_—3>

onoTE !(ILT; h(x)=4 (1) , IXiLT;(p(X) =5 (2) , kou akéun

h(x) = Xfﬁ)_z:»f(x):( x+1-2)n(x)

o(x)=g(x)-(\Bx -3) = g(x) = o (x)

molamhactilovpe apOpmT

(Mﬂ)(%:_xj) £ ()-5()=h(x)o(x) (Vx+1-2)(Vx+1+2)(v3x +3)

(o (2] )

X+l —22)(\/§+3)
7 (ax -g) ()

=

s
=f(x)-g(x)=h(x)e(x) 3&4?((\/)(3?3)2)

. ) . ) J3x+3 W@
= lim| f(x)-g(x) |=limh(x)lime(x)lim————— =
x—>3|: ( ) g( )] X—3 ( )x—>3(P( )x—>3 3( ’X +1+2)

=

=10 9] 483 2% =m0 a00] 1
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’ ~ f(x) _9(x)
Oétovpe h(x)_\/1+x—\/1—x Ko (P(X)_m_l

) } . 1 ,
omote IXI_r)rolh(X) =1(1), IXI_r)Tg(p(x) =3 (2) , kot oxdun

(%) =) £ (x) = (VEFX TN (%)

=\/1+X—\/1—x :f(x)zh(x) 1+X — 1—x>:>
@(X):%Sg(x):(p(x)(m_l) g(x) (P(X)< 2X+1—1)



norramhoctiloope apibpnm
POVOLLOCTN

(Ve s )( Pt g f(x) h(x)(x/1+x V1- x)(Jl+x+«/1 x)(«/2x+1+1):>
9(x)  o(x)(V2x+1-1)(VI+x +1-x)(V2x+1+1)

(x) h(x) Jrx —J1=x ) Jax+1+1)

il

X (p X ( 2x +1 —1) 1+x+m)
)
2

=

f(X) h(x) (4 +x-4+x)(V2x+1+1)
gx Co(x)(2x+ 1 - 1)( 1+x+J1—_x)

f(x) h(x) 2% (\/2x+1+1) _
g(x) o(x)2€ (1+X+J1—_x)

im0 _ limh (x)lim(vV2x+1+1)

=

0900 lime(x)lim(VTex +v1-x)
e f(x) 1-(«/2-0+1+1) g
=09(x) ;(Ju—owl_—o)
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O¢tovpe h(x)= f)((_x) ko ¢(x)= 9(x)

omoTE leggh(x) =a (1), IXILTOl(p(X) =B (2) , ko akdun

(0= 00 g n 1
( ):sz_:g(x)zq)(x)m)v% =f(x)-g(x)=h(x)e(x)x GUV;:>

] ] ) . 1
iyt 4)-0(0) = ligh() i) iy e |
Opmg

x2>0

—1SGUV£S l=>-x’< xzcmvls x? (4)
X X

Opog Ixim(—xz):lxiirol(xz)zo (5)

KpLeiplo Tapepfoin
Onodte (4),(5) " limxowv S =0 (6)

X—0 X

"Etot tehkd givar

3) = lim(f (x)g(x)) = a-p-0= [im(F(x) g (x)) = 0

x—0 X—0




